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Aspect Oriented Programming

package com.dev.aop;
public class Payment {

public void doPayment()
// payment logic gmBusiness Method
}

@Aspect — Aspect

public class TransactionService {

@ointcut("execution(public void con.dev.aop.Paynent.doPayment())")
public void p1() {

}

@8efore("p1()")
public void beginTransaction() {

System.out.println("Transaction begins 1");
¥

@arter("p1()")
public void completeTransaction() {

Systen.out.printin("Transaction completes !");
/)

@AfterReturning("pl()") —<
public void commitTransaction() {
System.out.println("Transaction committed 1");

Pointcut

i

@AfterThrowing("p1()")
public void rollbackTransaction() {

System.out.println("Transaction rolled back
¥
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